	
	
	
	
	


Osobní číslo:                                                                                                                                                                                                                                                                                                                                                    Celkový počet bodů:                                               23.4.2015
                 
PŘIJÍMACÍ ZKOUŠKY Z ANGLICKÉHO JAZYKA 

do 1. ročníku nižšího stupně víceletého studia

Přečtěte si následující text:
Sherlock Holmes sat silently, and watched the fire. Then he said to me, ‘John Openshaw is in real danger. Why did his Uncle Elias have to leave America? Because he had enemies. When he came back to England he was afraid. That’s why he lived a lonely life and locked all his doors so carefully. Now where did those letters come from? Did you see?’

‘The first from Pondicherry in India, the second from Dundee in Scotland and the third from East London,
’I answered. ‘Does that tell you anything?’ asked Holmes. ‘They’re all sea ports. The writer was on a ship when he wrote the letters,’ I replied. I was pleased with my answer. 

‘Very good, Watson,’ said Holmes. ‘Somebody sent some pips from India, and arrived seven weeks later to kill Uncle Elias. Then he sent some pips from Scotland and arrived three days later to kill John’s father. Do you see why I am worried now? He has sent pips to John from London! John’s enemy is in London already.’

I. ‘Good God, Holmes!’ I cried. ‘Who is this man?’ ‘More than one man, I think. They belong to Ku Klux Klan.’

II. Rozhodněte, zda jsou následná tvrzení pravdivá, či nikoli. Zakroužkujte písmeno T (true), nebo F (false): 
1) Uncle Elias left America because he didn’t like it anymore.     


T        F
2) Uncle Elias lived a very busy life in England.          



T        F
3) The letters came from three different places.                                                              T        F
4) Holmes was worried about John’s safety.                                                                     T        F

III. Najděte v textu slova, která odpovídají následujícím definicím. Za definicí je uvedeno číslo odstavce, 
ve kterém se slovo vyskytuje: 

1) the brother of your father or mother (1): 

         …………uncle…………..
2) to be worried about something (1): 

to be ………afraid…………………
3) the area where ships stop to get goods and 

passengers on and off (2): ………port…….
4) a period of seven days, especially from Monday 

to Sunday (3): …………week……………..
5) a person who hates and tries to harm you (3): ………………enemy…………..
IV. Doplňte do vět správné předložky. V případě věty bez předložky mezeru proškrtněte.

1) I go ………to ……… work …………… by………… car.
2) My daughter is afraid …………of………….. spiders.
3) It is dangerous to play tennis ……………on …………………. a wet court. 
4) I am really good …………at …………………. learning languages.
5) We have lessons ……of (in)…………………………. French ……………on…………………. Monday.
V. Vytvořte otázky tak, aby odpověďmi byly tučně vytištěné výrazy: 
1) I moved to this house two years ago. …… When did you move to this house?
2) My father is a bus driver. ……… What does your father do? What is your father’s job?
3) He is going to start his own company next week. …… What is he going to do next week?                                                                              
4) Michael has two brothers and a sister. ……. How many brothers and sisters/ siblings does Michael have?

5) I do a lot of exercise because I want to be fit. …… Why do you do a lot of exercise?

Zaškrtněte výraz, který patří do věty. Pouze jeden je správně:
1) I used to go to fast food restaurants, but now ………………………………… eating something healthier.

a) I prefer

b) I am preferring

c) I will prefer

d) I prefers

2) I am ………………………………… music.

a) interesting in

b) interested in


c) interested with
d) interesting at

3) I have ………………………………… money.

a) many

b) lots



c) a lots of

d) a lot of

4) He ………………………………… me a very nice present yesterday.

a) gived

b) given


c) gave


d) gives

5) I am ………………………………… in my class.

a) taller


b) the bigest


c) tall


d) the tallest

6) What …………………………………? He is a postman.

a) is Peter doing

b) Peter does


c) Peter do

d) does Peter do
VI. Doplňte do druhé věty jedno slovo tak, aby měla přibližně stejný význam jako věta první:
1) There are only few people in the cinema. – There aren’t very … many………. people in the cinema.

2) You drive worse than any other driver I know. – You are the …… worst… driver I know.

3) We’re getting married in October. – We will have a ………… wedding…………………….. in October.

4) The tickets for this concert cost £50. – We had to ……  pay/ get/ have  £50 to get to the concert.

5) I enjoy looking after animals. – I like taking ……… care……….. of animals.

a) 
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